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3.  sin0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60° =7

V3 V3 V6
@1—5_ ®1+? (@1—7
@1+76 @2—73

sin 0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60°
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@ sinb50° = CD © cos50° = 0D

® tan50° = CD ® cos40° = CD
@ sin40° = OD
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tan 50° = —E = @




0°<x<90° 4o, Bs F &2 227

® -1<cosx<0 (@>0§sinx§1
@ 0<tanx<1 @ -2<sinx<-1

® -1<cosx<0

0°<x<90° Y 0<sinx<1,0<cosx<1,tanx >0




@ sin32°=0.52
O cos34°=0.83
© tan36°=0.73
® 2sin42°=1.34

@ 3cos44°=2.1

2= AbQl(sin) | F AFQI(cos) | B E (tan)
31° 0.51 0.86 0.60
32° 0,52 0,85 0.62
33° 0.54 0.84 0.65
34° 0.56 0,83 0.67
35° 0.57 0.82 0.70
36° 0.59 0,81 0.73
37° 0.60 0.80 0.75
38° 0.62 0.79 0.78
39° 0.63 0,78 0.81
40° 0,64 0,77 0.84
41° 0.66 0.75 0.87
42° 0.67 0,74 0.90
43° 0.68 0.73 0.93
44° 0.69 0,72 0.97
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cos44° = 0.72°]| 22 3cos44° = 2.16 ©|t}.




sin 90 °
sin 45 ° X cos 45 °
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o} A7 o] B E 0]-835}0] tan52° —sin 55 ° + cos 53° 9] FS
Shelat.

Afel TALCI EtHE
(sin) (cos) (tan)

52° 0.7880 | 0.6157 1,2799
53° 0.7986 | 0.6018 1.3270
54° 0.8090 | 0.5878 | 1,3764
55° 0.8192 0.5736 1,4281

[ 2
> ®ehl 1.0625

tan 52 ° = 1.2799
sin 55 ° = 0.8192
cosH3° = 0.6018
L (F4]) = 1.2799 - 0.8192 + 0.6018 = 1.0625
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Aloltt. /CEG = x € W, sin x4+ cosx
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CE =23
EG =22
CG=20R2

2V3 _ VB4 VB 0y

sin x + cos x =

23 23

3




12.

—2sin60° + V3tan45° x tan 60° = AASE 229
@3- V3 © ?—3 ® 3—?
@ 0 ® 2

2% ¥ 4 VEx1x ¥ = ~VE+3 ock




13. o3 13 9] 2742 ABC oA AB =
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E3t /B=30°°|B& x=BC = 6xcos30° = 6%
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w2tA x +y =3+ 3V3 ol
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14. g IHEE BT A4 712719 S x, a O D71y & D 0,
xty 9 e T

D 16 @ 31 )46 @ 61 ® 91

2
(F42) 7187]) = - =1
tana =1
Soa=45°

oA x4y =1+ 45 = 46 o]t}




15. 7447k ABC 4] AB = 8em ,
BC = 4V3cm € o, /B ] 27]=7
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aB sin x cos T tan =

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1,0724

@e6s2 @697 @701 @ 7193 G 7314

sin 43° = 110 o]BE x = 10 X sin43° = 10 x 0.682 = 6.82
6.82




17. thg 2] SABC o4 A2 o) BE B3 x o] gH F5HA?

Zte sin cos tan

54° 0.8090 0.5878 1,3764
55° 0.8192 0.5736 1.4281
56° 0,8290 0,5592 1,4826

@® 8.192 @5.736 ® 5.878 @ 8.09 ® 8.29

/C =55° 0|22
x =10 X cos55° = 10 x 0.5736 = 5.736
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0° < A < 90° °]1 5tanA — 12
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20. g 1L ol§5tel tan15° o S A2

B D C
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AC 8 1
tan15° = — = = =2-13
BC 16+8v3 2+ 3
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B _
22. sin(3A-45°) = cos (5 + 15°) A o, tan A xtan B 9] -2 F6HH?

(T, 15° < A < 45°,0° < B < 90°)

@ o @ -1 @1 @ -2 ® 2

B ~

sinx = cosx 21 x = 45° o[t}

3A —45° =45°, A =30° ©]1L, — + 15° = 45°, B = 60° °|t}.

E

2
1

w2hA tan A X tan B = tan 30° X tan 60° = 75 x V3 =1 o]t}




23.

thg 17 2 AAZH ABCD Ol A

A cosx @] g oozt )

| 2
> HE: cosng

ol W, AD = V152 - 92 = 120]|22
AD 12 4
= 1=3

— — 0O

COS.)C:AZC—I—5 5

x+y=90° /DAC+y=90°°]2& /DAC = x|t}
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AC = x 2} 5}, AABC 9} AACD & E-So|t},
16 25
X — = X
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(DCB = /CAB °]E2 cosf = % = % o]ct.
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25.

ok R} o] LACB = 90° 91 A2} 4123 ABC 7} 9lek. B34
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AABC 1A sin30° = %3 _ % wakA] AC = 8 o]t

AADC oA ZACD = 30° 0] B2 cos30° = %D _ ‘/73 wFatA

CD = 43 o|th.

ADEC °|A] /CDE = 30°°]E.2 sin 30° = E = 1, E]‘ﬁ'/\']
43 2

EC =23 o]t}




